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Instructions 
1. Figures to the right indicate maximum marks.  
2. Make suitable assumptions wherever necessary. 
 
Q.1 Essay Type Questions. (any 2 out of 3)  (15 Mark Each) (30) 
1. 

For what matrix A, A2 can be computed? If A = ൥
−2 3 1
1 2 3
−1 −1 2

൩ find A2-3I. 
 

2. Find the equation of the circle having centre (2, 3) and passing through the point of 
intersection of the lines 3x-2y-1=0 and 4x+y-27=0. 

 

3. Solve the equation : (i) ydx + xdy =0, (ii) y” + 5y’ + 6y =0  

Q.2 Short Essay Type Questions. (any 4 out of 5)  (5 Mark Each) (20) 
1. Define one-to-one and onto function. Which of the functions, (i) ݂(ݔ) = ,ݔ (ݔ)݂(݅݅) =

1, (ݔ)݂ =  .ଶ are one-to-one and onto functionsݔ
 

2. When the product of the two matrices, A and B is possible? If A=ቂ1 −2 3
4 1 0ቃ , B= 

൥
1 1
2 1
3 0

൩ which of AB, BA is possible and why? Compute the possible products.  

 

3. Compute ∫   .by the method of substitution ݔ݀ݔ݊ܽݐ

4. If ݂(ݔ, (ݕ = ଶݔܽ + 2ℎݕݔ + ଶ,  compute డ௙ݕܾ
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5. If ݂(ݔ) = ଷ௫ାଶ
ହ௫ିଶ

, compute ݂′(ݔ).  

Q.3 Short Answers.  (2 Mark Each) (20) 
1. If the distance between (a, 2) and (3, 4) is 2√2, then find the value of ‘a’.  

2. Find the equation of the line inclined at 1350 with the positive x-axis and having y-
intercept 6. 

 

3. Find the equation of the circle having centre (ܽܿߙݏ݋,   .ܽ and radius  ,(ߙ݊݅ݏܽ

4. Compute the derivative of the function ݂(ݔ) =   .ݔ݃݋݈ݔ

5. Compute the integral, ∫ ݔ2) + ଵݔ݀(3
ିଵ .   

(ݔ)݂ .6 = ଶݔ2 + ݔ5 + 3, and ݃(ݔ) = ݔ2 + 5. Find ݂(݃(2)).  

7. 
If A = ൥

1 −1 0
2 −2 0
1 1 1

൩, is it possible to find A-1? Why? 
 

8. For ABC, A=300, b=√3, c=2, find ܽ, and, also solve the triangle  

9. Find the equation of the line passing through the points (2, -3) and (5, 6).  

10. Find the centroid of the triangle with the vertices (2, 1), (5, 2) and (-1, 3).  

 


